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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 4818 1.8 1.4 3 61.3 92.2
2a 5196 0.6 0.5 1 64 99.4
2c 5182 0.9 0.3 1 87 99.1
2e 4858 1.3 0.9 2 66.5 92.9
3b 3643 1.1 1 2 54.5 69.7
4 4701 4.2 3 8 53.1 89.9
Sb 5091 0.5 0.5 1 54.9 97.4
5d 5101 0.8 0.4 1 80 97.6

6aii 4124 0.5 0.7 2 26.1 78.9
6C 4001 1.2 1.2 5 24 76.5
7b 4558 1 0.9 3 31.7 87.2

8aii 4935 0.4 0.5 1 39.6 94.4
9a 4720 1 0.9 2 50.1 90.3

10ai 4669 0.6 0.5 1 63.6 89.3

10aiii 4118 0.2 0.4 2 8 78.8
10bii 4207 0 0.2 1 3.4 80.5

GCSE Maths-Numeracy Unit 2 Foundation
3310U20-1

&=

oot

Question
TCoOPVTO! g:

QM)

oW

100

Facility Factor %




	WJEC 2019 Online Exam Review
	GCSE Maths-Numeracy Unit 2 Foundation 3310U20-1 
	Item Level Data
	Facility factor graph
	Question 1
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 2
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 4
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked






Example 1

(a) The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£). [3]

bt BB ST

Cost of 40 litres of petrol was £ 5‘5@










(a) The following week the price of petrol was 128.9 pence per litre.

Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£).

Costof 40 litres of petrolwas £ S\ VG .. ... ..
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(a) The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£). [3]

Cost of 40 litres of petrol was £ 5\20_










WJEC GCSE MATHEMATICS - NUMERACY (3310U20-1)

SUMMER 2019 MARK SCHEME

GCSE Mathematics — Numeracy

Unit 2 Foundation Tier Mark Comment
1(a) 128.9 (pence) x 40 (litres) M1 | Allow incorrect place value
= (£)51.56 A2 | Allow £51.56p
A1 for sight of digits 5156 with incorrect place value
or units (e.g. £5156 or 5156p or 51.56p)
Unsupported sight of digits 5156 implies M1A1
ISW
Treat use of 127.9 as MR (-1 from A marks only)
Alternative method
(128.9 (pence) = 100 =) (£)1.289 B1 | BOfor (£)1.28 or (£)1.29
(£)1.289 x 40 (litres) M1 | Allow use of (£)1.28 x 40 (litres) or (£)1.29 x 40
(£)51.56 A1 | (litres)
Note: (£)1.28 x 40 (litres) = (£)51.2(0)
(£)1.29 x 40 (litres) = (£)51.6(0)
Unsupported (£)51.2(0) or (£)51.6(0) implies BOM1A1
ISW
1(b) 4438 + 35 M1 | Allow 44-38 + 35
126.8 (pence) A2 | A1 for sight of the digits 1268 with incorrect place

value or units

(e.g.£126.8 or (£)1.268 or (£)1.27 or 127(p))
Unsupported sight of digits 1268 implies M1A1
ISW











Example 1

(a) The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£). [3]

bt BB ST

Cost of 40 litres of petrol was £ 5‘5@



Sticky Note

This candidate gained M1A2 for the correct response of £51.56. We can see a correct method of 128.9 x 40 and then they have successfully converted their answer into pounds. This is not the OCW so we do not penalise for the misuse of = sign, although candidates should be encouraged to set out their workings correctly.










(a) The following week the price of petrol was 128.9 pence per litre.

Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£).

Costof 40 litres of petrolwas £ S\ VG .. ... ..



Sticky Note

This candidate has used 127.9p instead of 128.9p as the price of the petrol. As the question is of an equal level of difficulty, this is treated as a 'misread'. The candidate gains M1A2 but then 1 mark is deducted for the A marks. This response will gain 3 out of the 4 marks available.
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(a) The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£). [3]

Cost of 40 litres of petrol was £ 5\20_



Sticky Note

Both candidates in examples 3 and 4 have rounded £1.289 to either £1.28 or £1.29 before multiplying by 40. Both responses will gain B0 M1 A1 following the alternative method on the marking scheme.
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Examiner
1. Geraint went to a petrol station and put petrol in his car. only
This was the display on the petrol pump.
T ) - ) | ‘
| s W} This sale
<.l
At .
mENR[EE Litres
~ Minimum delivery 2 litres
See that indication is zero
before delivery commences
Pence per litre
Geraint put 30 litres of petrol in his car.
The price of petrol was 127.9 pence per litre.
The cost of the petrol was £38.37.
(@ The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car. s
What was the cost of the petrol? §
Give your answer in pounds (£). [3] 33
Cost of 40 litres of petrolwas £ ...
(b) The display below shows the cost of 35 litres of petrol.
Calculate the price per litre of petrol.
Give your answer in pence. [3]
This Sale £ 44.38
Litres 35.00
Pence per litre
03 © WJEC CBAC Ltd. (3310U20-1) Turn over.










Question 4

4. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing. —

140 pupils are going to a concert.
The table below shows the cost of the different types of ticket.

Ticket Cost per ticket
SEATED £84 50
STANDING £49 .50

Of these 140 pupils:
+  35% have bought SEATED tickets,
+ the remaining pupils have bought STANDING tickets.

Calculate the total cost of the tickets bought by the 140 pupils.
You must show all your working. [6 +2 OCW]

Example 1

...... LHQupub _afe _aeaned = U140.50
Al .u.p..n..L.b ......... Qfe... Emndmg ......... (450(,;50

leuq 50\

LO(OL ...... (OSL - BoLS. e |











Example 2

CAnswel! = fbl¢










Example 1

(a) The following week the price of petrol was 128.9 pence per litre.
Geraint put 40 litres of petrol in his car.
What was the cost of the petrol?
Give your answer in pounds (£). [3]
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Cost of 40 litres of petrol was £ 5‘5@










4.v

(No of SEATED tickets = ) 0.35 x 140
=49
(No of STANDING tickets = 140 —49 =) 91

(Cost of SEATED tickets =) 49 x (£)84.5(0) OR
(Cost of STANDING tickets =) 91 x (£)49.5(0)

(Cost of tickets =) (£)4140.5(0) + (£)4504.5(0)

(£)8645(.00)

M1
A1
B1

M1

m1

A1

Or equivalent full method

May be implied in later working
FT ‘their derived 49’.

May be implied in later working

FT ‘their 49’
FT ‘their 91’
M1 for sight of (£)4140.5(0) OR (£)4504.5(0)

FT ‘their (£)4140.5(0) + ‘their (£)4504.5(0)

Organisation and communication

Writing

0oC1

W1

For OC1, candidates will be expected to:

* present their response in a structured way

+ explain to the reader what they are doing at each
step of their response

* lay out their explanations and working in a way that
is clear and logical

+ write a conclusion that draws together their results
and explains what their answer means

For W1, candidates will be expected to:

+ show all their working

» make few, if any, errors in spelling, punctuation and
grammar

* use correct mathematical form in their working

* use appropriate terminology, units, etc

© WJEC CBAC Ltd.











Question 4

4. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing. —

140 pupils are going to a concert.
The table below shows the cost of the different types of ticket.

Ticket Cost per ticket
SEATED £84 50
STANDING £49 .50

Of these 140 pupils:
+  35% have bought SEATED tickets,
+ the remaining pupils have bought STANDING tickets.

Calculate the total cost of the tickets bought by the 140 pupils.
You must show all your working. [6 +2 OCW]

Example 1

...... LHQupub _afe _aeaned = U140.50
Al .u.p..n..L.b ......... Qfe... Emndmg ......... (450(,;50

leuq 50\

LO(OL ...... (OSL - BoLS. e |




Sticky Note

This candidate has gained all 6 marks for a correct answer of (£)8645.
OC1 is awarded as there are labels showing the steps of the response. 
W0 is awarded as there are a lack of units and there is a misuse of the = sign (10% = 14 x 3 = 42 + 7 = 49)










Example 2

CAnswel! = fbl¢



Sticky Note

This candidate has gained all 6 marks for a correct answer of (£)8645.
OC0 is awarded as there are no labels showing the steps of the response. 
W0 is awarded as there are a lack of units and not all workings are shown.
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Sticky Note

This candidate has gained 5 marks for an answer of (£)8644. The last A1 is lost.
OC0 is awarded as there are not enough labels showing the steps of the response (some of the information is repeated from the question). 
W0 is awarded as not all workings are shown (where has the 49 and 91 come from?)










Examiner
only

In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing. — ——

140 pupils are going to a concert.
The table below shows the cost of the different types of ticket.

Ticket Cost per ticket
SEATED £84.50
STANDING £49.50

Of these 140 pupils:
* 35% have bought SEATED tickets,
* the remaining pupils have bought STANDING tickets.

Calculate the total cost of the tickets bought by the 140 pupils.
You must show all your working. [6+2 OCW]
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Question 9(a)

(a)

Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates?

...........................................................











(a) Bryn returns his hired ice skates aﬂermum
How much will the total charge be for hiring these ice skates? [2]
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9(a) 3.25 + 4x 2.4(0) M1
(=) (£)12.85 A1
If no marks, award SC1 for an answer of any of the
following:
Answer From
(£)10.45 3.25 +3x2.40
(£)11.97 (not for (£)11.96) | 3.25 + 3(38/60) x 2.40
(£)17.4(0) 3.25+4 x 2.40 and
incorrect BIDMAS
(£)22.6(0) 3.25+2.40 x 4 and
incorrect BIDMAS
9(b) (Minimum time) 61 minutes B3 B2 for an answer of 1 hour 1 minute

OR
B1 for sight of any one of the following
e (8.05-3.25)+2.4(0)

e 3.25+24(0)+24(0) (=8.05)
o 4.8(0)+2.4(0) (=2 hours)
e 2 hours

OR an answer of a number of minutes >61 but <120

© WJEC CBAC Ltd.











Question 9(a)

(a)

Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates?

...........................................................




Sticky Note

Here is an example of where a candidate has shown the correct method for M1 but then has shown an incorrect answer for A0.










(a) Bryn returns his hired ice skates after.3_1].‘:l.u_sj.a_m,'m_l..ttﬁlé
How much will the total charge be for hiring these ice skates? [2]




Sticky Note

Here is an example of where a candidate has gained SC1. Here they have worked with 3 x 2.40 instead of 4 x 2.40. This was a common correct answer.
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User

Sticky Note

This was far more common an error than I would have expected. Candidates divided 900 and 870 by 12 and 10 respectively because they mistook the mean gain for total gain. Candidates would do well to read the information in the question carefully.
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Ice skate hire charges

Hire any pair of ice skates for £3.25
PLUS
£2.40 for every hour or part of an hour hired*

*any minute or more into the next hour is
charged as 1 hour

(@) Bryn returns his hired ice skates after 3 hours 38 minutes.
How much will the total charge be for hiring these ice skates? 2]

(b) Beth pays £8.05 to hire ice skates.
What is the minimum whole number of minutes that she could have hired the ice skates
for before returning them? [3]
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